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Section — A is compulsory. All parts of this
section are to be answered on this page and
handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use
lead pencil.

COMPUTER SCIENCE

Fill the relevant bubble against each’question:

SSC-II

SECTION — A (Marks 12)
Time allowed: 15 Minutes

Answer Sheet No.

Sign. of Candidate

Sign. of Invigilator

LiplS S s P srevz e dndi
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Which symbol is used for decision in a flow
chart?

?c‘,dxdqu', ﬁdecisiondﬁﬂowchaﬂyﬂ&u’u:f

9y

-

O

&S

How many bytes are used for long int data
type? :
‘-'w&nd'v‘:”bytes J;éis,'/t‘l}}](mg int

2

) 4

Os O 10

Which operator is an arithmetic operator?

Yg_ofWJarilhmctic operator Jgjfu’:a}(w

O %

O 8&

Which operator has lowest precedence?
7
‘:’9{ c-precedence u‘(Opcrator):/UiJ(

of

O <=

O %

What is the output of following code segment
after execution when a=1 and b=27
if (a+b++<4)
printf("%d”,b);
5. else
printf(“%d”,a);

?‘Lgoutput(,( Program code segmemuﬁbu

O

O 2

O3 O 4

What is the output of following code segment
after execution when a=10, b=-20
if (@>0&&b<0)
printf(“%d”, a+b);
6. else
printf(“%d”,a-b);

?(ry(outputJ Program code segmentsA*{

O -10

O 10

O 20 (O30
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Which of the following is valid data type that
can be used as variable/expression in switch
statement?

U< switch statement A &S of S e

?g_._./L‘/“& L variable/expression

(O double

O int

(O unsigned

Which loop structure is most suitable when
number of iterations/repetitions are known in
advance?

Jloop -2 & - wliloop structure b uf ok s
?:’IH‘ cégfrepetitions

(O while loop

(O for loop

(O do while loop

(O nested loop

Which of the following is unary gate?
< unary gatelwf Vol ln

(O AND

O XOR

(O XNOR

10.

Which combination of logic gates is used to
make a NAND gate?

¥LLNAND gate bbotf e ol

(O OR&NOT

(O AND & NOT

(O NOR & NOT

11.

How many heading tags are there in HTML
language? :
?UtHeading tagsé‘f gf J~HTML Language

Os

Os

O7

12.

Which heading tag pair is used to display

; et b
largest size heading in an HTML web page? O <h5></h5>

L & heading$% < —heading tag pairl/df S lon
fe b b1 JAHTML web paged-

(O <h3></h3>

(O <ha></h4>

(D <h6></h6>

——28A-1 2211-8141(HA) —

ROLL NUMBER

Page 2 of 2




Time allowed: 2:45 Hours

!
COMPUTER SCIENCE SSC—II ke

Total Marks Sections B and C: 43

NOTE: Answer any nine parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet--B if required. Write your answers
neatly and legibly. :

Q2

Note:

Q.3

Q. 4

Q.5

SECTION - B (Marks 27)

Answer any NINE parts from the following. All parts carry equal marks. (9x23=27)

(i)
(ii)
(iii)
(iv)
(V)
(vi)
(vii)
(viii)
(ix)
(x)

Write about the criteria for selecting the best solution of a problem.
What is meant by the following terms?

(a) Algorithm (b) Efficiency of an Algorithm (c) Candid solutions
What is meant by the following terms?
(a) Character set  (b) Reserved words (c) Comments

Differentiate between constant and variable with one example of each.
Differentiate between getch() and getche() functions by writing their syntax, purpose and giving an
example of each. :
What is format specifier? Differentiate between %f and %e format specifiers.
What is an arithmetic operator? Differentiate between simple and compound assignment operators
with an example of each.
What is meant by the term nested selection structure. When do we need it?
What is loop? Write syntax of for loop and give an example.
Write the following program code segment using while loop structure.
void main(void)
{ int X, sum=0;

for (x=1,x<=99;x=x+2)

sumssum-+x;
printf(“Sum of.odd numbers from 1 to 99 is %d”,sum);

Write the following program-code segment using switch statement:
if (a+b == 1|| atb == 2 || a+b.==-3)
printf(“you are in first 3'positions”);

else
printf(“you are not in first 3 positions”);
(xii) What is meant by the following terms?
(a) World Wide Web (WWW) . (b) Website (c) Uniform Resource Locator (URL)
(xiii)  Write purpose of following HTML tags.
(a) Font Size (b) Subscript (c) Strike-out
i . SECTION — C (Marks 16) :
Attempt any TWO questions. ) (2x8=16)
a. Write syntax and explain purpose of switch and else-if statements. 04)
b. Write/convert following program code using if-else statement. (04)
void main (void)
{ char ch;
printf(“Enter any uppercase or lowercase letter from A to Z");
scanf(“%c”, &ch)
{
case ‘a’.
case ‘A’
case ‘e”
case ‘E"
case ‘i’
case ‘1"
case ‘0"
case ‘0"
case ‘U’
case ‘U
printf(“You typed a vowel");
break;
default:
printf(“You typed a consonant’);
}
a. What is meant by Truth Table? Draw/create a Truth Table for the Boolean function,
F=xz+yz+Xxyz ' (04)
b. What is Karnaugh Map? Simplify the given Boolean function using Karnaugh Map. (04)
F=ABC+ABC+ABC+ABC+ABC_+ABC
a. Describe the following websites. (2+2+2+2)
i. News ii. Information iii. Entertainment iv. Business
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(9x3 = 27) | u"dvtb’uiuﬁjﬁf"lbcd L;l]t(og)icd;’éuﬁg};;;y o Ay
-J /. L7 ui’/ L criteria é&dr" L best solution Lprob]emug (I)
Condidsciifdns .t Bfficiency ofan Algorithm® . Algoritim Mt el andts O
Comments = Reserved words ~— Character set -Jl"a;l Ve’ Ve ol (iii)

e .,fw( Ul / 5 53} Jevariablessiconstant (iv)

-J./ 5 180} S s Je L Ll sipurposeesyntax§ L i L getcheOfunctionslgetchOfunction (v)

A /1 (‘j I:J)uﬁ %f format specifier.s %e format speciﬁer‘-’c"_.yrformat specifier (Vi)

~L£/ 6 53,/ <sJé 1L compound assignment operator slsimple assignment operator® . < Arithmetic cperator (V”)
?:‘,Jn_f Y J V' iu:q S g/j l‘w‘./}’?c‘-&ﬂgnested selection structure (Vlll)

A )Jl’é‘vﬁuiu.‘.”%yntax(for loop?c’.(f Loop (ix)

void main(void) thlle 100p!( program code segment 2N (x)
{ int x, sum=0; 7
for (x=1,x<=99;x=x+2) _ ‘f’{ u‘&
sum=sumH+x;
printf(“Sum of odd numbers from 1to 99 is %d”",sum);
} .
if (@+b ==1|| atb == 2 || atb == 3) U:J’@szitch statement:’/program code segment sA*{.2 (xi)
printf(“you are in first 3 positions”), ; JJ
else A
printf(“you are not in first 3 positions”);
?4.)!/&‘/@&@&*‘*9}@/) (Xii)
Uniform Resource Locator (URL) L Website - World Wide Web (WWW) -3
Strike-out -l Subscript - Font Size - :Jf’g purpose§ HTML tagss AT (xiii)
(2x8=16) (s Lushr (-ga S a9
L/ 5 bpurposeguwluf’a syntaxéswitch statementslelse-if statement - Ay
void main (void){ A if-else ] program code YO, -
char ch; u‘“’v u“f’ U statement
printf(“Enter any uppercase or lowercase letter from A to Z”);
scanf(“%c", &ch)
case ‘a’
case ‘A’
case ‘e’:
case ‘E"
case ‘i
case ‘1"
case ‘0"
case 'O"
case ‘U
case ‘U
rintf(“You typed a vowel”);
reak;
default:
printf(“You typed a consonant”);
} .
¥ Truth Table ¥Boolean function F = X Z+Y Z+X  Z Sl /i Truth Table Al
Boolean function s4#{.s1 ¢! 7 /'« Karnaugh Map - =
S e sulKamaughMapf F=ABC+ABC+ABC+ABC+ABC+AB G
Business -»  Entertainment & Information -w News -y pE JU:JW L/-../»,v (Z 0 d‘.
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Time allowed: 15 Minutes

Fill the relevant bubble against each question:

_Vf//_::(a/’l);/» £i_.:£il/£d1//;

Which symbol is used to

Process/Processing in a flow chart? Q <>
G Ju1 & L (Process/Pracessing) U oy Bt of

fe

represent

o U o O

How many reserved words does C language

7. have? O 16

fut(Reserved words) ZJ:VKJ: C language

(O 48 () 64

Which is a logical operator?
fe et u((Logical Operntor)du[u:o}bu

Which operator has highest precedence?

4. " ® O ++ O < O &&
?@n:L)cqPreccdcnchOperatorJ
What is the output of following program code
segment when a=-1 and b=2?
if(++a==0)
printf(*%d”,a+b);
5 else Oo O1 Q2 O3
printf(“%d”,b-a);
‘?c‘_.’.d’outputJProgram code segment s45%»
What is the output of following program code
segment when a=2 and b=17
switch(a+b)
{ case 1;
case 2:
case 3:
6. printf(*%d" a+b); 1 2 3 4
break; O O O O
default:

printf(“%d”,a-b);
}

‘.‘§,(foutput(,( Program code segment o
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What is the ‘primary purpose of using a loop For increasing
g structure in a program? O For repetition O code length O For testing (:) For debugging
' ‘.'(r-_b'nl[,w;‘d;_u.wb'*"!LLOOp structure & (1/64 _.gRepetition 4% Code length LLBE é&ﬂ U3

el

Which loop structure is most suitable when
the body of loop executes at least once, even

the given condition at first iteration is false? . :
8. for loop while loo nested loo () do-while loo|
u_fl(/'l[fbody ofloope2 & t#02l, /Loop Structure bud O O i O ” :) 4

fe bl /"conditionC‘( Grare b1z,

Which inputs combination will produce HIGH

. * |
5, SURIHTEn TP O HIGH&LOW () LOW&LOW (O LOW&HIGH () HIGH & HIGH
HIGH (~AND gate (combination).rﬂvl/c}:( ¥inputs )

¥ soutput

Which combination of logic gates is used to

get a NOR gate?
10. - * : AND & OR OR & NOT AND &XOR () XOR&NOT
&34NOR gate(combination):«ll-vuf ¥Logic gatess 2l O O O O

114

Which heading tag pair is used to show the
smallest ‘size heading in an HTML web ‘
page? .
11, : <h1></h1> <h2><fh2> . <h3></h3> <h4></h4>
U# < - Heading tag pair I o/ U£ HTML Webpage O O O ) O

: ?bct'ndbi’fééi_b(;ﬂeading _

What is the output of HTML tag

X<sup>10</sup>when used in a web page? ko
12. 10X X10 : X0 .. - () Xao
Youtput § HTML tag X<sup>10</sup>:&ts O O - O 10 O

1 St webpagee! —2
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Time allowed: 2:45 Hours

:
COMPUTER SCIENCE SSC-II 1D

Total Marks Sections B and C: 43

NOTE: Answer any nine parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly. '

SECTION — B (Marks 27)
Q.2 Answer any NINE parts from the following. All parts carry equal marks. (9 x3=27)
(i) Draw and write purpose of Input/Output, Process, and Decision symbols used in flowchart.
(i) Write three advantages of drawing a flow chart.
(iit) Differentiate between syntax and semantic with an example of each.
(iv) Write three differences between Low-level language and High-level language.
(V) Write three differences between else-if and switch selection structures.
(vi) What is a conditional statement? Write syntax of simple if statement.
(vii) Write down/convert the following program code using else-if statement.
void main(void)
int x=1; int y=3;
switch(x+y)
case 1
printf("Sum of x and y is 17);
break;
case 2;
printf(“Sum of x and y is 2");
break;
case 3
printf(“Sum of x and y is 3");
break;
default:
printf(‘Suny’of x and y is not equal to 3%);
(viii)  Write the following program code-using nested while loop structure.
void main (void)
inti, k;
for(i=1:i<=5;i++)
for(=1;j<=1j%+)
printf(“%d",j);
printf(\n");
} }
(ix) What is a logic gate? Draw and label all possible operations of a two inputs OR logic gate using its
symbol.
(x) What is Truth Table? Draw a Truth Table for the following Boolean expression XZ+XY
(xi) Draw a logic circuit for the following Boolean expression using logic gates XY+XZ
(xii) What is meant by the following terms? ' ‘
) Search engine (b) Home page (c) Web hosting
(xii)  Write the purpose of the following HTML tags.
(a) Order list _ (b) Anchor (c) Underline
SECTION — C (Marks 16)
Note: Attempt any TWO questions. . (2x 8=16)
Q.3 Differentiate between the following with examples: (2+6)
i. Assignment (=) operator and Equal to (==) operator.
i Prefix and Postfix increment and decrement operators.
Q.4 a Explain the use of break and continue statements in any loop with an example of each. (04)
b. Write a program to display following output using either for nested loop or while nested loop. (04)
1 2
1 2 3
1 2 3 4 ‘
1 2 3 4 5 :
Q.5 Describe the following websites: (08)
i. Web portal ii. Educational il. Business iv. News
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..u.'.‘ﬁ S b U el st Ji1 - £ Decisionsinput/ Output, Process“Flowchart (i)
-U-‘J « s Li_t:Flowchart (i)
“Jed ;{ld/ sl S 5 53 Ut Semantic.s/Syntax (iii)
- Sz f JAL High-Level Language.s/Low-Level Language (iv)
-«,j.‘.j O/ ef Urswitch statement.slelse-if statement (v)
-u.‘."g syntaxésimple if statemcnt?‘a,l_fconditional statement (vi)
}’°id main(void) else~if statement  program code s45%» (vii)
int x=1; int y=3; -‘_j.‘."iutdﬁuf
switch(x+y)
case 1:
printf(“Sum of x and y is 17);
break;
case 2:
printf(“Sum of x and’y.is 2");
break;
case 3:
printf(“Sum of x and y is 37);
break;
default:
printf(*Sum of x and y is not equal to 3");
}
void mair‘l{ (void) :ch-“7 4P Unested while loops program code »£%. (viii)
inti, k;
for(i=1:i<=5;i++)
for(j=1j<=ij++)
printf(“%d”,j);
printf(“\n”);
}
}
- S5 outputsminputs;é % /:luf t«.y JOR logic gate &-lsinputs %<l W« Logic gate (ix)
-/ t:Truth Table ¥ Boolean expression X Z+XY f<\/Truth Table (x)
-LtLogic circuit /5L Logic gates¥Boolean Expression X Y+X Z (xi)
Webhosting & Home page S Search engine il Sl Y LR (xi)
Underline  -& Anchor - Orderlist - :ufﬂ (Purpose)dk*"’lfa}@.y (xii)
o
6/ S)pr o
(2x8=16) ' Cutiif Zudrpi g JrvedH
M:fﬂf«’uh{féb&)q}kﬁLJ.S.?M? :f"/:}dlr‘
Assignment (=) operator.s/Equal to (==) operator ®
Prefix and Postfix increment and decrement operator (i)
-« /. 5 £ L ydeJ1 Uiloop i (f( (gontinue statementssibreak statement - / Jis
1 S Jinested while loopknested for loope- £ & Jdisplay Soutput o413 g
:‘] g 3 :u.‘."d prograra Z
1 2 3 4
1 2 3 4 5
:q/.:»u,J&v.,f.,J(:’.,{!ﬁcufo}@; :G/db’

News - Business L Educational - Webportal -
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